/% q’uadro\&ic ]l;rMula.

—h + JL+-
oC +bx+rc=0 <& «x= b'j‘_’a‘“‘"

Sowve 6*-x-2=0

Sve 12 -6L —aL™= -t +1

Fnd the zeros oF 7152 - 102 +1
Sl bt + 5410 = 25 Fo -3

or oo many values  p do we (je(: 3FZJ’5P 92 =4

for whoh wlues of q s T= 24"+ 59 43 m%jwbiw
2wt is e maximum value o{' P



/\WQ q’uadmjcic ]C)rmud&

| Auscri minaint
/?)L ibxtrc=0 <& x- -b tﬂ‘—_lj-azz A = b —lac
A+0 \ -
A A70 =) 2 rovts
20 )
A =0 :7’[ oo k&
St - EZM =3 N<0 = () 1ok
/. 7-1 =1 coluhns
A<D

/\bco
/N—=0 hz0



/\WQ q’uadml:ic Prmula

o rbx+c=0 <& x= -b *-'fi:m
So\ve ‘6_1,7-._1,__2:0
0=6 L= _ -1+ (- - le ¥bx (->
b="1 B 2x6
- — )
o = 4l 1 +48
12
Abvuo chade
— 1‘\/' \l qu — 1_4;:}
Lyr-x-1 = (3x,—’L L 2x+1 ) /’IL 42:
éf—_x‘L-—O 1+= ¥ _ 2
ka\';O/\S‘, )(/"_’/ _— = |/ — =
£ (ZX’-L\LLM\):O 25 @ 2 L 3
_ _Y
—> r-1=6 & =L & 1= " )
“ ol L @ ek
2x =0 =1 > = /L 73 1L



“The quedeatic Frmula

G +bx+rc=0 & x* ‘b*—':a—ll—w
\Jm’=ﬁ'm:3m
e 12 -6t -4 =-4at +1 J
~L 444 +at -2 ‘E _ 3 tJ A ;
1 = —1¢
10 + 3k —at® = O . -2k -
—\g
‘-——j'kl+£‘c+/nl_gto -1+l _11\@?
o~ b c L = — =
A:bl—ch— = 3 Lx( ‘l\ (O 2 Ssluhous — e
T T -6
= 360\ = q)(LlL.I’ é
Jel' A +JEl

364= %0 +9 e
=~ Yoxaxr|x¥a ‘_,L‘Lhcq @&: 1 - _ /é_



/‘KQ q’(;admjcic ]c)rmulm
-b £ b*- 4ac

2 — =
aC +bx+c=0 & « 7o

Tink e =erog oF 152% ~ 107 +1
: 2 Where ZS_% -10z +1=0

N
T \
0.‘2,5 ~-10 c=1
1 > —(~10% + { (~toV — x25% 1
JS— > 2x25 B
7
_ 10 + (o0 — |00
chede -
50
X
(_52;-1\ :(5%—0(536-\) _ 10 + JZ_' _ l_(.i..c_? - 1o _ 4
=258 - |0p+ 1 ,57- 50 50 J

(62 ~D"=0 & ga-i=o \
&S Sr=l & 2= g



/lfe q’wdmjcic ]c)rwmula.

- +" o
o rbxrc=0 <& x* b-'?‘_’a 2
&l\m/ 6—;{,7‘ +&x+10 = 212‘ 71’-'3) _ K1.+51-«H0 2 Y
et 4+ D EFe ] ‘0/’ a:ZJ’-« -3

4% v e +13 =0
X7 v e 10

A=Y b=l ¢=%

: —
-2+ \J 125 — Gxlgx 13

2y
- ]
¥
Lx x 1 |
=<0 =208 = < V=% o reak Soluts!
l | © A 3 —
IO\HT" bo
3\ g



/M, q’uadml:ic ]c)rMu.l(L
~b £ b - hac

2 — =
AL +bx+c=0 & « —

for oo Many vaues p do maeb 3p” J'SF 2 =4

<3p +Sp —6 O
=3 b=65 =t

J A
:SP"*SP-L Al s crimmantc A = Li- ¢acl
= 6% — 3% (-6)
- 28+ 32
g= = 9% 7O
> So 2 SoluM oS
\+{ 2 e 2 - e,



’I/m q’uamkic Lrmula
~b £ {b™=fac

2 _ _ b"—-
0o +bx+Cc=0 & x —

'FBT which w.(ues 0-(’ q' (s T = _Z{Z T 514_3 Vlgdb\lw
& wek is the marimm value o{' P M
MT=0 & ;21”‘4 544+3=0 !

A s c
_ -5+ \J25+2¢
o) =
4= 2
= 7,: ESJ:W :—54:':}
— —y
Ya— q/': S_—_;_}:“%(/:'}?/ OR i:/:Lf_/




